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1	Introduction
The RAN4 basket WIDs have been arranged in a way that leads to redundancy in text proposals, TRs and CRs, which leads to unnecessary work for the rapporteurs, for MCC to implement CRs which has led to errors in the CR implementation. 
This TP proposes some potential improvements to the basket WID arrangements that can help reduce redundancy, increase RAN4 productivity and decrease errors. 
2	Discussion
The NR-CA/DC Basket Work Items are currently configured so that 2DL/1UL and 2DL/2UL are in the same WI and 5DL/1UL and 5DL/2UL are in the same WI, but some configurations with more than 2 downlinks have separate WIs for 1 UL and 2 UL. This leads to the need for additional TRs and redundancy in effort for writing text proposals and CRs, and errors in the specs if the CRs aren’t aligned. Also, it creates more work for MCC to implement the CRs due to redundancy between CRs, which has led to errors in the CR implementation. If the 1 UL and 2 UL combinations are being added in the same Plenary cycle, then the same DL combination is added in two separate CRs for 3DL, and 4 DL combinations.  
The basket process could be improved if we realign the basket WIs to eliminate redundancy. For example, instead of the current split:
2DL/xUL (up to 3 CRs)
3DL/1UL (up to 2 CRs) (No 3 DL for FR2) 
3DL/2UL (up to 2 CRs)
4DL/1UL (up to 2 CRs)
4DL/2UL (up to 2 CRs)
5DL/xUL (up to 2 CRs)

We could alternatively have this configuration with the same number of WIs, but half as many CRs for DL >2: 
2DL/xUL (up to 3 CRs)
3DL/xUL FR1 (1 CR)
3DL/xUL FR1+FR2 (1 CR)
4DL/xUL FR1 (1 CR)
4DL/xUL FR1+FR2 (1 CR)
5DL/xUL FR1 (1 CR)
5DL/xUL FR1+FR2 (1 CR)

Or, if we split 2DL into FR1, FR1+FR2 and FR2 we would have: 
2DL/xUL FR1 (1 CRs)
2DL/xUL FR2 (1 CRs)
2DL/xUL FR1+FR2 (1 CRs)
3DL/xUL FR1 (1 CR)
3DL/xUL FR1+FR2 (1 CR)
4DL/xUL FR1 (1 CR)
4DL/xUL FR1+FR2 (1 CR)
5DL/xUL FR1 (1 CR)
5DL/xUL FR1+FR2 (1 CR)

For less redundancy of common clauses, we could have this configuration with a smaller number of WIs (and TRs), but half as many CRs for DL >2: 
2DL/xUL (up to 3 CRs)
3DL/xUL (up to 2 CRs)
4DL/xUL (up to 2 CRs)
5DL/xUL (up to 2 CRs)

With any of these potential realignments there would be half as many CRs for the WIDs with more 3 or 4 downlinks. This would result in less redundancy for the Text Proposals and less redundancy for the CRs, which should improve productivity and reduce errors. 

Also, since we now have UL CA with PC2 and PC1.5, as well as PC1 for vehicular and FWA we will either have duplicate baskets for the other power classes, or we could include PC1, PC1.5 and PC2 in the same baskets as PC3. Including the other power classes in the same baskets as PC3 should be considered.

3 Conclusion
Proposal 1: Include the text proposal below in the revised TR
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5.4.0	General
It might be possible to improve RAN4 efficiency by considering realignment of the basket work items and how different power clases should be handled. This section explores some possibilities.
5.4.1	Potential basket realignment for NR-DC and NR-CA
The NR-CA/DC Basket Work Items are currently configured so that 2DL/1UL and 2DL/2UL are in the same WI and 5DL/1UL and 5DL/2UL are in the same WI, but some configurations with more than 2 downlinks have separate WIs for 1 UL and 2 UL. This leads to the need for additional TRs and redundancy in effort for writing text proposals and CRs, and errors in the specs if the CRs aren’t aligned. Also, it creates more work for MCC to implement the CRs due to redundancy between CRs, which has led to errors in the CR implementation. If the 1 UL and 2 UL combinations are being added in the same Plenary cycle, then the same DL combination is added in two separate CRs for 3DL, and 4 DL combinations.  
[bookmark: _Hlk79152986]The basket process could be improved if we realign the basket WIs to eliminate redundancy. For example, instead of the current split:
2DL/xUL (up to 3 CRs)
3DL/1UL (up to 2 CRs) (No 3 DL for FR2) 
3DL/2UL (up to 2 CRs)
4DL/1UL (up to 2 CRs)
4DL/2UL (up to 2 CRs)
5DL/xUL (up to 2 CRs)

[bookmark: _Hlk78546473]We could alternatively have this configuration with the same number of WIs, but half as many CRs for DL >2: 
2DL/xUL (up to 3 CRs)
3DL/xUL FR1 (1 CR)
3DL/xUL FR1+FR2 (1 CR)
4DL/xUL FR1 (1 CR)
4DL/xUL FR1+FR2 (1 CR)
5DL/xUL FR1 (1 CR)
5DL/xUL FR1+FR2 (1 CR)

Or, if we split 2DL into FR1, FR1+FR2 and FR2 we would have: 
2DL/xUL FR1 (1 CRs)
2DL/xUL FR2 (1 CRs)
2DL/xUL FR1+FR2 (1 CRs)
3DL/xUL FR1 (1 CR)
3DL/xUL FR1+FR2 (1 CR)
4DL/xUL FR1 (1 CR)
4DL/xUL FR1+FR2 (1 CR)
5DL/xUL FR1 (1 CR)
5DL/xUL FR1+FR2 (1 CR)

For less redundancy of common clauses, we could have this configuration with a smaller number of WIs (and TRs), but half as many CRs for DL >2: 
2DL/xUL (up to 3 CRs)
3DL/xUL (up to 2 CRs)
4DL/xUL (up to 2 CRs)
5DL/xUL (up to 2 CRs)

With any of these potential realignments there would be half as many CRs for the WIDs with more 3 or 4 downlinks. This would result in less redundancy for the Text Proposals and less redundancy for the CRs, which should improve productivity and reduce errors. 
5.4.2	Power Classes in baskets
Since we now have UL CA with PC2 and PC1.5, as well as PC1 for vehicular and FWA we will either have duplicate baskets for the other power classes, or we could include PC1, PC1.5 and PC2 in the same baskets as PC3. Including the other power classes in the same baskets as PC3 should be considered. 
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